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O	
  que é	
  o	
  IVDA	
  proposto?

VDA

VFE FGE

• Olha	
  o	
  passado	
  e	
  corrige	
  
o	
  presente

• Olha	
  uma	
  estatística	
  
MUITO	
  agregada	
  

• Não	
  reconhece	
  mercados	
  
locais	
  

• Cria	
  fatores	
  de	
  correção	
  
porque	
  se	
  reconhece	
  
como	
  imperfeito

ANS,	
  13	
  de	
  novembrode	
  2018ROBERTO BOMGIOVANI CAZZARI

Frequência	
  de	
  Sinistros
Ex:	
  número de	
  cirurgias
de	
  colocação de	
  prótese

PRECIFICAÇÃO

Severidade	
  do	
  sinistro
Ex:	
  custo	
  de	
  uma	
  prótese

SINISTRO
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è Sinistro	
  Agregado
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Assim,	
  a	
  operadora	
  obtém:	
  
• O	
  Prêmio	
  Estatístico	
  Agregado	
  (PEAg);
• Prêmio	
  Puro	
  Agregado	
  (PPAg);
• Capital	
  Adicional	
  Baseado	
  em	
  Risco	
  (U):

O	
  Prêmio	
  Agregado	
  e	
  a	
  Margem	
  de	
  Solvência

PEAg	
  =	
  E[S] PPAg	
  =	
  E[S](1+θ) PPAg +	
  U
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1)	
  Contratos	
  possuem	
  garantia	
  de	
  renovação
2)	
  ANS	
  fixa o	
  reajuste

E	
  se	
  o	
  reajuste não cobrir o	
  sinistro	
  agregado?

Problemas	
  Decorrentes	
  de	
  um	
  Reajuste	
  Insuficiente
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Problemas	
  Decorrentes	
  de	
  um	
  Reajuste	
  Insuficiente
1ª	
  Alternativa:	
  os	
  sócios/quotistas fazem	
  um	
  novo	
  
aporte	
  de	
  capital	
  ou	
  uma	
  maior	
  parcela	
  de	
  lucro	
  é	
  
retida,	
  de	
  modo	
  a	
  manter a	
  probabilidade	
  de	
  ruína	
  
constante;

PEAg	
  =	
  E[S] PPAg	
  =	
  E[S](1+θ) PPAg +	
  U

U
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2ª	
  Alternativa:	
  mantém-­‐se o	
  nível	
  de	
  capital	
  
adicional	
  baseado	
  em	
  risco	
  anteriormente	
  
calculado	
  e	
  a	
  operadora passa	
  a	
  trabalhar com	
  
uma	
  maior probabilidade de	
  ruína;

PEAg	
  =	
  E[S] PPAg	
  =	
  E[S](1+θ) PPAg +	
  U
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3ª	
  Alternativa:	
  Os	
  novos	
  entrantes	
  passam	
  a	
  
pagar um	
  prêmio	
  maior	
  de	
  modo	
  a	
  compensar
o	
  reajuste	
  abaixo	
  do	
  necessário	
  dos	
  antigos,	
  
sem	
  que	
  haja	
  nenhuma	
  justiça	
  atuarial.	
  A	
  
alternativa	
  mais	
  vista	
  na	
  prática.

=	
  Desigualdade

Problemas	
  Decorrentes	
  de	
  um	
  Reajuste	
  Insuficiente
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